

International Journal of Advanced Research in Computer Science

RESEARCH PAPER

Available Online at www.ijarcs.info

Group of Continuous Time Recurrent Neural Networks

Neeraj Sahu* Research scholar Department of Mathematics S.M.S Government Science College Gwalior (M.P), neeraj_maths1@yahoo.co.in Poonam Sinha Associate Proffesor Department of Mathematics S.M.S Government Science College Gwalior (M.P), poonamsinha_1968@yahoo.co.in

A.K. Verma Assistence Proffesor Department of Mathematics, Sciences and Computer Applications .Bundelkhand University Jhansi (U.P.), India alokverma_bu@yahoo.com

Abstract: This paper explain a different type process for absolute exponential stability (AEST) of a group of continuous time recurrent neural networks with locally Lipschitz continuous and monotone non decreasing activation function. The result extends and improves the existing the analysis of absolute stability (ABST) and absolute exponential stability (AEST).

Keywords: Neural network; absolute exponential stability; global exponentially stability.

I. INTRODUCTION

The main force lies in information that an absolute stability (ABST) or absolutely exponential stability (AEST) neural network can meet globally asymptotically to a single equilibrium with any activation function in a proper given group and any other network parameters. This type neural network property is used for solving many optimization problems. The optimization neural networks are devoid of the hollow suboptimal answer for any variety of the activation function.

A quantitative analysis for globally exponentially stability (GES) [1]-[2] known the union performances of neural network. This method appears at a solution with a specified accuracy.

ABST or AEST discover for continuous time recurrent neural networks. There researchers have to restrain the connection weight matrix and activation function of neural network. The group of sigmoid activation function proved symmetric or non inhibitory lateral connection weight matrix of neural network model. The necessary and sufficient condition of this model for ABST neural network [3] and[4]. The ABST results are extended to the AEST ones in [5] and [6] respectively. In inference is raised [7]. The group of partially Lipschitz continuous and monotone non decreasing activation function for current AEST result is given is [8].

Here we describe with AEST of continuous time recurrent neural network with locally Lipschitz continuous and monotone non decreasing activation function. These type of result expand and improve the presented ABST with AEST ones in the literature

II. PERLIMINARIES

Consider group of continuous time recurrent neural network model as follows

$$\dot{x} = -D_i x + w_i g(y) + u$$
, $x(0)$ (1)

$$\dot{\mathbf{y}} = -\mathbf{D}_{\mathbf{j}}\mathbf{y} + \mathbf{w}_{\mathbf{j}} \mathbf{f}(\mathbf{x}) + \mathbf{v}, \qquad \mathbf{y}(0) \tag{2}$$

Where

 $\begin{aligned} \mathbf{x} &= (\mathbf{x}_1, \mathbf{x}_2 \ \dots \ \mathbf{x}_n)^T \in \mathbb{R}^n, \mathbf{y} = (\mathbf{y}_1, \mathbf{y}_2 \ \dots \ \mathbf{y}_m)^T \in \mathbb{R}^m \\ \text{is the state vector,} \quad \mathbf{D}_i &= \text{dig} (\mathbf{d}_1, \mathbf{d}_2 \ \dots \ \mathbf{d}_n) \in \mathbb{R}^{n \times m}, \\ \mathbf{D}_j &= \text{dig} (\mathbf{d}_1, \mathbf{d}_2 \ \dots \ \mathbf{d}_m) \in \mathbb{R}^{m \times m}, \text{ is diagonal matrix with } \mathbf{d}_{ij} \\ > 0 \quad \mathbf{w}_i &= [\mathbf{w}_{ij}] \in \mathbb{R}^{n \times n}, \ \mathbf{w}_j = [\mathbf{w}_{ji}] \in \mathbb{R}^m \text{ is connection} \\ \text{weight matrix} \end{aligned}$

$$\begin{split} \mathbf{u} &= (\mathbf{u}_1, \mathbf{u}_2 \ \dots \dots \mathbf{u}_n)^T \in \mathbb{R}^n \ \mathbf{v} = (\mathbf{v}_1, \mathbf{v}_2 \ \dots \dots \mathbf{v}_m)^T \in \mathbb{R}^m \\ \text{is a input vector and,} \\ \mathbf{g}(\mathbf{y}) &= \left(\mathbf{g}_1(\mathbf{y}), \mathbf{g}_2(\mathbf{y}) \ \dots \ \dots \ \mathbf{g}_m(\mathbf{y})\right)^T, \mathbf{f}(\mathbf{x}) = \left(\mathbf{f}_1(\mathbf{x}), \mathbf{f}_2(\mathbf{x}) \ \dots \ \dots \ \mathbf{f}_n(\mathbf{x})\right)^T \\ \text{is a nonlinear vector valued activation function from \mathbb{R}^n to \mathbb{R}^n} \end{split}$$

and \mathbb{R}^m to \mathbb{R}^m . In this paper let LL denote the Locally Lipschiz Continuous (l.l.c) and monotone non decreasing activation function that is for any $\mathbf{x} = \mathbf{x} = \mathbf{E}$. R there exit

function that is for any $\mathbf{x}_{\mathbf{j}0}$, $\mathbf{y}_{\mathbf{i}0} \in \mathbb{R}$ there exit $\mathbf{z}_{\mathbf{j}0}$, $\mathbf{\delta}_{\mathbf{i}0} > 0$ and a constant $\mathbf{l}_{\mathbf{j}0}$, $\mathbf{k}_{\mathbf{i}0} >_0$ (i=1,2,3...n), (j=1,2,3...m) such that

 $\begin{array}{l} \forall \quad \theta_1, \theta_2 \ , \rho_1 \in [x_{j0} - \epsilon_{j0}, \ x_{j0} + \epsilon_{j0} \], \rho_2 \in [y_{i0} - \delta_{i0}, \ y_{i0} + \delta_{i0}] \\ \text{and} \quad \theta_1 \neq \rho_1, \ \theta_2 \neq \rho_2 \end{array}$

$$0 \leq \frac{\mathtt{B}_{i}(\mathtt{\theta}_{2}) - \mathtt{g}_{i}(\mathtt{p}_{2})}{\mathtt{\theta}_{2} - \mathtt{p}_{2}} \leq k_{i0} \quad 0 \leq \frac{\mathtt{f}_{j}(\mathtt{\theta}_{1}) - \mathtt{f}_{j}(\mathtt{p}_{1})}{\mathtt{\theta}_{1} - \mathtt{p}_{1}} \leq l_{j} \quad (3)$$

Let PL denote the group of partially Lipschiz continuous (p.l.c) and monotone non decreasing activation function [9] that is for

any $\rho_1, \rho_2 \in \mathbb{R}$ there exist $l_j(\rho_1), k_i(\rho_2) > 0$, $(i = 1, 2, 3 \dots n)$, (j=1,2,3...m) such that $\theta_1, \theta_2 \in \mathbb{R}$ and $\theta_1 \neq \rho_1, \theta_2 \neq \rho_2$

$$0 \leq \ \frac{g_i(\theta_2)-g_i(\rho_2)}{\theta_2-\rho_2} \leq \ k_i(\rho_2), \ 0 \leq \ \frac{f_j(\theta_1)-f_j(\rho_1)}{\theta_1-\rho_1} \leq \ l_j(\rho_1)$$

Let GL denote the group of globally Locally Lipschiz continuous (g.l.l.c) and monotone non decreasing activation function.

Here **GL c PL** and **GL c LL**. As for connection between PL and LL, the presented continuous activation function in the literature being to LL but many not be PL such as $g_i(y) = y^a$, $f_j(x) = x^a$ and $g_i(y) = \max(y^a, 0)$, $f_i(x) = \max(x^a, 0)$

III. MAIN RESULT

This part will be prove that $w \in M_0$ is a sufficient condition for AEST of common neural network (1)-(2) with its activation function in LL. We proved and improve the existing result ABST and AEST.

Theorem- The neural network (1)-(2) has a unique equilibrium continuous and monotone non decreasing activation function g any $\mathbf{u} \in \mathbb{R}^n$ and any positive diagonal matrix D if and only if $\mathbf{w}_{i}, \mathbf{w}_{i} \in \mathbf{p}_{0}$ by [10, Leema 2]

Proof- The neural network (1)-(2) has a unique equilibrium

denoted by x^*, y^* for $-w_{i_1} - w_j \in p_0$. Here we let

$$z_1 = (z_{11}, z_{12} \dots \dots z_{1n})^T = x - x^*, z_2 = (z_{21}, z_{22} \dots \dots z_{2m})^T = y - y^*.$$

Then the neural network (!)-(2) can be changed into the following corresponding system with a unique equilibrium at z = 0.

$$\dot{z_1} = -D_i z_1 + w_i g_i(z_2), \quad z_1(0) = x - x^* \dot{z_2} = -D_j z_2 + w_j f_j(z_1), \quad z_2(0) = y - y^*$$
(3)
Where

$$\begin{split} & f(z_1) = \left(f_1(z_{11}), f_2(z_{12}) \dots \dots f_n(z_{1n})\right)^T = f(z_1 + x^*) - f(x^*) \\ & \in \textit{LL}, g(z_2) = \left(g_2(z_{21}), g_2(z_{22}) \dots \dots g(z_{2m})\right)^T = g(z_2 + y^*) - g(y^*) \in \textit{LL} and \ f(0) = 0, g(0) = 0 \ from \ which \ we \ have \ three \ useful \ properties \end{split}$$

Property A: There exist positive function $l_j(z_j)$ (i-1,2,3, m) and k-(z-)(i = 1,2,3, m) such that

$$(j=1,2,3\dots,m)$$
, and $\mathbf{x}_{\mathbf{i}}(\mathbf{z}_{\mathbf{i}})(\mathbf{i} - \mathbf{1},2,3\dots,m)$ such that

$$0 \leq \frac{u(z_{ij})}{z_{i}} \leq k_{i}(z_{i}) \quad \forall (z_{i}) \in \mathbb{R} \{0\}$$
(4)
$$0 \leq \frac{f_{j}(z_{j})}{z_{j}} \leq l_{j}(z_{j}) \quad \forall (z_{l}) \in \mathbb{R} \{0\}$$
Property B:

There exist positive constant li0, ki0 such that

 Where

 $S_1 \in [-a_j, a_j], S_2 \in [-a_i, a_i]$ where $[-a_j, a_j], [-a_i, a_i]$ Is any given bounded interval i = 1, 2, ..., j = 1, 2, ..., m. Property C: There exist positive constant

$$l_{j} (j = 1,2,3...m), k_{i0}, (i = 1,2,3...n) \text{ such that}$$

$$0 \le \frac{g_{i}(z_{i})}{z_{i}} \le k_{i0} \quad \forall (z_{i}) \in [-a_{i}, a_{i}] - \{0\}$$

$$0 \le \frac{f_{j}(z_{j})}{z_{j}} \le l_{j0} \quad \forall (z_{l}) \in [-a_{j}, a_{j}] - \{0\}$$
(6)

where $[-a_j, a_j], [-a_i, a_i]$ is any given bounded interval. Property B as follows $f_{j(S_1)}, g_{ii}(S_2)$ is l.l.c and monotone non decreasing for any $S_1^* \in [-a_j, a_j], S_2^* \in [-a_i, a_i] \exists z_{j0} > 0$

$$\begin{split} &\delta_{i0} > 0 \text{ and a constant } k_{i0} > 0, l_{j0} > 0 \text{ such that} \\ &\forall \, \theta_1, \theta_2, \rho_1 \in \left[\begin{array}{c} S_1 * - \epsilon_j \\ \beta_1 \neq \rho_1, \theta_2 \neq \rho_2 \end{array} \right], \rho_2 \in \left[\begin{array}{c} S_1 * - \delta_i \\ \beta_1 = \rho_1, \theta_2 \neq \rho_2 \end{array} \\ & \text{ we have } 0 \leq \begin{array}{c} \frac{g_{i(\theta_2) - g_j(\rho_2)}}{\theta_2 - \rho_2} \leq k_i \\ \theta_1 - \rho_1 \end{array} \leq \begin{array}{c} l_j \\ \theta_1 - \rho_1 \end{array} \leq \begin{array}{c} l_j \\ \theta_1 - \rho_2 \end{array} \leq \begin{array}{c} l_j \\ \theta_1 - \rho_2 \end{array} \leq \begin{array}{c} l_j \\ \theta_1 - \rho_1 \end{array} \leq \begin{array}{c} l_j \\ \theta_1 - \rho_1 \end{array} \leq \begin{array}{c} l_j \end{array}$$

(7)

Next by contradiction we will show that there exist a positive constant \mathbf{k}_{i0} , such that

$$\begin{array}{rcl} 0 & \leq & \frac{\mathbb{E}i(s_2) - \mathbb{E}_i(S_4)}{S_3 - S_4} \ \triangleq & k_i(S_3 \,, S_4) \ \leq & k_{10} \,, \forall \, S_3 \,, S_4 \in [-a_i \,, a_i \, \\ \\ \end{array}$$
$$\begin{array}{rcl} 0 & \leq & \frac{f_{j(s_1) - f_j(S_2)}}{S_1 - S_2} \ \triangleq & l_j(S_1 \,, S_2) \ \leq & l_{j0} \,, \forall \, S_1 \,, S_2 \in [-a_j , a_j] \end{array}$$
$$(8)$$

Suppose (8) does not hold. Then we may select six sequence $\{N_i\}, \{S_{1i}\}, \{S_{2i}\}, \{N_i\}, \{S_{3i}\}, \{S_4\}$ such that $0 < N_1 < I_i(S_{11}, S_{21}) < N_2 < I_i(S_{12}, S_{22}) < \cdots N_i < I_i(S_{1i}, S_{2j})$ $< N_{j+1} < l_j(S_{1j+1}, S_{2j+1}) < \cdots \lim_{j \to +\infty} N_j = +\infty \text{ and } \lim_{j \to +\infty} l_j(S_{1j}, S_{2j}) = +\infty \text{ and } 0 < N_1 < k_i(S_{21}, S_{41}) < N_2 < k_i(S_{22}, S_{42})$ $< \cdots N_i < k_i(S_{3i}, S_{4i}) < N_{i+1} < k_i(S_{3i+1}, S_{4i+1}) < \cdots \lim_{i \to \infty} N_i = +\infty$ and $\lim_{i \to \infty} k_i(S_{2i}, S_{4i}) = +\infty$ where each $S_{1j}, S_{2j} \in [-a_j, a_j]$ and $S_{3i}, S_{4i} \in [-a_i, a_i]$ and $S_{1i} \neq S_{2i}, S_{3i} \neq S_{4i}$ since each $S_{1i}, S_{2i} \in [-a_i, a_i]$ and $S_{3i}, S_{4i} \in [-a_i, a_i]$ there must exist two subsequence of each part $\{S_{inj}\} \subset \{S_{ij}\}, \{S_{2nj}\} \subset \{S_{2j}\}, \{S_{2nj}\} \subset \{S_{2j}\}, \{S_{2nj}\} \subset \{S_{2nj}\}, \{S_$ $\{S_{ami}\} \subset \{S_{ai}\}, \{S_{4mi}\} \subset \{S_{4i}\}$ such that $\lim_{j\to+\infty} S_{1nj} = S_1^* \in [-a_j, a_j]$ $\lim_{i \to +\infty} S_{2ni} = S_2^* \in [-a_i, a_i]$
$$\begin{split} &\lim_{i \to +\infty} S_{2mi} = S_3^{*} \in [-a_i, a_i], \lim_{i \to +\infty} S_{4mi} = S_4^{*} \in [-a_i, a_i] \text{ so} \\ &\lim_{i \to +\infty} l_j \left(S_{1nj}, S_{2nj} \right) = l_j \left(S_1^{*}, S_2^{*} \right) = +\infty \quad \lim_{i \to +\infty} k_i \left(S_{2mi}, S_{4mi} \right) = \end{split}$$
 $\begin{array}{l} k_{i}\;(\,S_{a}^{\;*},\,S_{4}^{\;*})=+\infty\;if\;\;S_{1}^{\;*}=\;S_{2}^{\;*},\,S_{a}^{\;*}=\;S_{4}^{\;*}\;then\;there\;exist\\ some \;integer\;\;i^{*},j^{*}\;\;such\;that S_{1nj},S_{2nj}^{\;}\in\;[\;S_{1}^{\;*}-\;e_{j}^{\;},\;\;S_{2}^{\;*}+e_{j}^{\;}], \end{array}$ $S_{ami}, S_{4mi} \in [S_a^* - \delta_i, S_a^* + \delta_i]$ when $i^* \ge i^*, j^* \ge j^*$. in view of (7) we can derived $\forall i^* \ge i^*, j^* \ge j^*$

 $\begin{array}{l} \text{Which contradicts } l_j\big(S_{1nj}\,,S_{2nj}\big) \rightarrow \infty \text{ as } j \rightarrow \infty, \text{ and} \\ k_i\big(S_{2mi}\,,S_{4mi}\big) \rightarrow \infty \text{ as } i \rightarrow \infty, \ S_1^* \neq \ S_2^* \ S_3^* \neq \ S_4^*. \\ \text{Based on continuity of function} f_{j(,)} \text{ on } \left[-a_j,a_j\,\right], g_{i(,)} \text{ on } \left[-a_i,a_i\,\right], \\ \text{clearly } \frac{g_i(S_8^*) - g_i(S_4^*)}{(S_3^* - S_4^*)}, \frac{f_j(S_2^*) - f_j(S_2^*)}{(S_1^* - S_2^*)} \text{ is finite }; \text{ that is} \\ l_j(S_1^*, \ S_2^*), k_i^-(S_3^*, \ S_4^*) \text{ is finite. Contradicting } l_j^-(S_1^*, \ S_2^*) \\ = +\infty, k_i^-(S_3^*, \ S_4^*) = +\infty \text{ , therefore there exist a positiove} \end{array}$

network (1)-(2) has a unique GAS equilibrium for x^* and $\mathbf{u} \in \mathbb{R}^n$

Theorem : If $\mathbf{w}_{i}, \mathbf{w}_{j} \in \mathbb{I}_{0}$ then the neural network (1)-(2) with its activation function in the class of LL is AEST.

Proof: We know that $\mathbf{w} \in \mathbf{D}_0 \subset \mathbf{I}_0 \subset \mathbf{P}_0$, we consider the equal model (3) only. In view of lemma 1, model (3) is GAS at $\mathbf{z_1}, \mathbf{z_2} = \mathbf{0}$, and consequently there exist constant $\mathbf{a_i} > \mathbf{0}, \mathbf{a_j} > \mathbf{0}$ such that $|\mathbf{z_i(t)}| \le \mathbf{a_i}, |\mathbf{z_j(t)}| \le \mathbf{a_j} \forall \mathbf{t} \ge \mathbf{0}$, i=1,2....,n, j=1,2...,m, According to properties B and we have (5) and (6) since $\mathbf{w_i}, \mathbf{w_j} \in \mathbf{D}_0$ there exist a positive diagonal matrix $\mathbf{p_i} = \mathbf{dig}(\mathbf{p_1}, \mathbf{p_2}, \dots, \mathbf{p_n})$) $\mathbf{p_j} = \mathbf{dig}(\mathbf{p_1}, \mathbf{p_2}, \dots, \mathbf{p_m})$, such that $[\mathbf{p_i}, \mathbf{w_i}] \le \mathbf{0}, [\mathbf{p_j}, \mathbf{w_j}] \le \mathbf{0}$. Let $\mathbf{z} = \mathbf{z_1} + \mathbf{z_2}$ then $\mathbf{z} = \mathbf{z_1} + \mathbf{z_2}$ we define a differentiable function $\mathbf{v}(\mathbf{z}) = \mathbf{v}(\mathbf{z_1} + \mathbf{z_2}) = \sum_{i=1}^n \int_0^{\mathbf{z_i}} \mathbf{p_i} \mathbf{g_i}(\mathbf{s}) \, d\mathbf{s} + \sum_{j=1}^m \int_0^{\mathbf{z_j}} \mathbf{p_j} \mathbf{f_i}(\mathbf{s}) \, d\mathbf{s}$ (9)

obviously $\mathbf{v}(\mathbf{z}) \ge 0$ by [12], calculating the time derivative v(z) beside the positive half trajectory of (3) give up. $\frac{d\mathbf{v}(\mathbf{z})}{dt} = -\mathbf{G}^{T}(\mathbf{z}_{2})\mathbf{p}_{i} \left[-\mathbf{D}_{i}(\mathbf{z}_{1}) + \mathbf{w}_{i}(\mathbf{z}_{2})\right]$

$$\begin{aligned} &+F^{T}(z_{1})p_{j}\left[-D_{j}(z_{2})+w_{j}F(z_{1})\right] \\ &=-G^{T}(z_{2})p_{i}D_{i}(z_{1})+G^{T}(z_{2})p_{i}w_{i}(z_{2})-F^{T}(z_{1})p_{j}D_{j}(z_{2}) \\ &+F^{T}(z_{1})p_{j}w_{j}F(z_{1}) \\ &=-G^{T}(z_{2})p_{i}D_{i}z_{1}+G^{T}(z_{2})[p_{i}w_{i}]^{s}G(z_{2})-F^{T}(z_{1})p_{j}D_{j}z_{2} \\ &+F^{T}(z_{1})[p_{i}w_{i}]^{s}F(z_{1}) \end{aligned}$$

$$\begin{split} &\leq -G^{T}(z_{2})p_{i} \, D_{i} z_{1} \leq -\dim \ G^{T}(z_{2})p_{i} \, (z_{2}) \\ &-F^{T}(z_{1})p_{j} \, D_{j} \, z_{2} \leq -\dim F^{T}(z_{1}) \ p_{j} \, (z_{1}) \\ &= -\dim \sum_{i=1}^{n} p_{i} \, g_{i} \, (z_{2})z_{i} - \dim \sum_{j=1}^{m} p_{j} \, f_{j} \, (z_{1})z_{j} \\ &\leq -\dim \sum_{i=1}^{n} p_{i} \, \int_{0}^{z_{i}} g_{i} \, (s) \, ds - \dim \sum_{j=1}^{m} p_{j} \, \int_{0}^{z_{j}} f_{j} \, (s) \, ds \end{split}$$

 $= -\dim v(z_1) - \dim v(z_2)$ And so $v(z) \le v(z(0) \exp(-\dim t)$ for all $t \ge 0$ by (9)we have

$$\begin{aligned} v(\mathbf{z}(0)) &= \sum_{i=1}^{n} \int_{0}^{z_{i}(0)} p_{i} g_{i}(s) ds + \sum_{j=1}^{m} \int_{0}^{z_{j}(0)} p_{j} f_{j}(s) ds \\ &\leq \sum_{i=1}^{n} p_{i} g_{i}(z_{i}(0)) z_{i}(0) + \sum_{j=1}^{m} p_{j} f_{j}(z_{j}(0)) z_{j}(0) \\ &\leq \sum_{i=1}^{n} p_{i} k_{i0} z_{i}^{2}(0) + \sum_{j=1}^{m} p_{j} l_{j0} z_{j}^{2}(0) \quad [\text{ from [6]}] \\ &\leq \|\mathbf{z}(0)\|^{2} \sum_{i=1}^{n} p_{i} k_{i0} + \|\mathbf{z}(0)\|^{2} \sum_{j=1}^{m} p_{j} l_{j0} \quad (10) \end{aligned}$$

Define continuous function

$$\begin{split} E_{i}(\alpha) &= \int_{0}^{\alpha} g_{i}(s) ds - g_{i}^{2}(\alpha)/(4k_{i0}) \\ E_{j}(\beta) &= \int_{0}^{\beta} f_{j}(s) ds - f_{j}^{2}(\beta)/(4l_{i0}) \\ \end{split}$$
Where

 $\alpha \in [-a_j, a_j], \beta \in [-a_j, a_j], i = 1, 2 \dots ... n, j = 1, 2 \dots ... m$ Then terms of (6) we readily obtain

$$D^{+}E_{i}(\alpha) = g_{i}(\alpha) \left(1 - \frac{1}{2k_{i0}}D^{+}g_{i}(\alpha)\right) \begin{cases} \geq 0 & a_{i} \geq \alpha > 0 \\ \leq 0 & -a_{i} \leq \alpha < 0 \\ = 0 & \alpha = 0 \end{cases}$$

$$D^{+}E_{i}(\beta) = f_{i}(\alpha) \left(1 - \frac{1}{2I_{j0}}D^{+}f_{j}(\beta)\right) \begin{cases} \geq 0 & a_{i} \geq \beta > 0\\ \leq 0 & -a_{i} \leq \beta < 0\\ = 0 & \beta = 0 \end{cases}$$

$$\begin{split} & \text{Implying } E_i(\alpha) \geq E_i(0) = 0 \text{ and } E_j(\beta) \geq E_j(0) = 0 \text{ and for all} \\ & \alpha \in [-a_i \,, a_i \,] \,, \beta \in [-a_j, a_j \,] \, \text{thus } \int_0^\alpha g_i(s) \, ds \geq g_i^{-2}(\alpha)/(4k_{i0}), \\ & \int_0^\beta f_j(s) \, ds \, \geq f_j^{-2}(\beta)/(4l_{j0}) \, \text{for all } i = 1, 2 \, ... \, n, j = 1, 2 \, ... \, m, \\ & \alpha \in [-a_i \,, a_i \,] \,, \beta \in [-a_j, a_j \,] \, \text{and} \end{split}$$

$$v(\mathbf{z}) \ge \int_{0}^{z_{i}} p_{i} g_{i}(s) ds + \int_{0}^{z_{j}} p_{j} f_{j}(s) ds$$

$$\ge \frac{p_{i}}{4k_{i0}} g_{i}^{2}(z_{i})c + \frac{p_{j}}{4l_{j0}} f_{j}^{2}(z_{j}) c$$
(11)

Based on (10) it is seen that

$$|g_{i}(z_{i})| \leq \sqrt{\frac{4k_{i0}}{p_{i}} \alpha(z_{1})} \leq ||z(0)|| \sqrt{\frac{4k_{i0}}{p_{i}} \sum_{i=1}^{n} p_{i} k_{i0}} \exp\left(\frac{-d_{\min}t}{2}\right) \forall t \geq x$$

$$|f_{j}(z_{j})| \leq \sqrt{\frac{4l_{j0}}{p_{j}} \beta(z_{2})} \leq ||z(0)|| \sqrt{\frac{4l_{j0}}{p_{j}} \sum_{j=1}^{m} p_{j} l_{j0}} \exp\left(\frac{-d_{\min}t}{2}\right) \forall t \geq x$$
So from (3) we have

$$D^{+}|z_{i}(t)| \leq -d_{i}|z_{i}(t)| + \sum_{i=1}^{n} |w_{ij}||g_{i}(z_{i}(t))| \leq -d_{i}|z_{i}(t)|$$

$$+ ||z(0)|| \sum_{i=1}^{n} |w_{ij}| \sqrt{\frac{4k_{i0}}{p_{i}} \sum_{k_{1}=1}^{n} p_{k_{1}} k_{k_{10}}} \exp\left(\frac{-d_{\min}t}{2}\right)$$

$$\begin{split} & \mathsf{D}^{+} |\mathbf{z}_{j}(t)| \leq -d_{j} |\mathbf{z}_{j}(t)| + \sum_{j=1}^{m} |\mathbf{w}_{ji}| |\mathbf{f}_{j}(\mathbf{z}_{j}(t))| \leq -d_{j} |\mathbf{z}_{j}(t)| \\ & + \|\mathbf{z}(0)\| \sum_{j=1}^{m} |\mathbf{w}_{ji}| \sqrt{\frac{4l_{j0}}{p_{j}} \sum_{k_{2}=1}^{m} p_{k_{2}} k_{k_{20}}} \exp\left(\frac{-d_{\min} t}{2}\right) \end{split}$$

i = 1, 2, ..., n, j = 1, 2, ..., m based on lemma $3|z_i(t)| = (1, 2, ..., n), (j = 1, 2, ..., m)$ is GES at the convergence rate of at least dim/2. Here z = 0 is the GES equilibrium of model 3 that is x*, y* is a GES equilibrium of neural network (1). These resources that the neural network (1) with its activation function is the class of LL is AEST the proof is complete.

IV. CONCLUSION

We have shown that Bidirectional associative neural network for group of continuous time recurrent neural network has a unique equilibrium point. Under certain on weight matrix this network with its activation functions on his AEST. This obtained AEST result actually improves for group of continuous time recurrent neural network literature.

V. REFERENCES

- S. I. Sudharsanan and M. K. Sundareshan, "Exponential stability and a systematic synthesis of a neural network for quadratic minimization," Neural Networks, vol. 4, pp.599-613, 1991.
- [2] H. Qiao, J. G. Peng, and Z. B. Xu, "Nonlinear measures: a new approach to exponential stability analysis For Hopfieldtype neural networks," IEEE Trans. Neural Networks, vol. 12, pp. 360-370, Mar.2001.
- "Necessary and sufficient conditions for absolute stability of neural networks," IEEE Trans. Circuits syst. I, vol. 41, pp. 491-494, June. 1994.

- [4] M. Forti, A. Liberatore, S.Manetti, and M. Marini, "On absolute stability of neural networks," in Proc.1994 IEEE Int. Symp. Circuits system, vol.6, pp. 241-244, May. 1994.
- [5] X. B. Liang and T. Yamaguchi, "Necessary and sufficient conditions for absolute exponential stability of Hopfield-type neural network," IEICE Trans. Inform. Syst. Vol. E79-D, pp. 990-993, 1996.
- [6] "Necessary and sufficient conditions for absolute exponential stability of a class of non symmetric neural networks," IEICE Trans. Inform. Syst. Vol. E80-D, pp. 802-807, 1997.
- [7] "comments on 'Necessary and sufficient condition for absolute stability of neural networks," IEEE Trans. Circuits Syst. I, vol. 42, pp. 497-499, Aug. 1995.
- [8] X. B. Liang and J. Wang, "An additive diagonal-stability condition for absolute exponential stability of a general class of neural networks," IEEE Trans. Circuits Syst. I, vol. 48, pp.1308-1317, Nov. 2001.
- [9] "Absolute exponential stability of neural networks with a general class of activation function," IEEE Trans. Circuits syst. I, vol. 47, pp. 1258-1263, Aug. 2000.
- [10] S.Hu and J.Wang "Absolute exponential stability of a class of continuous time recurrent neural networks," IEEE Trans. Neural Network, vol. 14, No.1 pp. 35-45, Jan. 2003.
- [11] X. B. Liang and L.D.Wu, "Comments on new conditions for global stability of neural networks with application to linear and quadratic programming problems," IEEE Trans. Circuits syst. I, vol. 44, pp. 1099-1101, Nov. 1997.
- [12] Y.Zhang, P.A.Heng, and A.W.C.Fu, "Estimate of exponential convergence rate and exponential stability of neural network," IEEE Trans. Neural Network, vol. 10, pp. 1487-1493, Nov. 1999.